														by the Serv	•								
:k ID Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Terms	Manufacturer Brand & Product Code	Product Code	Commodity Code(s)	(Pounds)	Servings per Case	per Serving	Donated Commodity per Serving	Fee per Serving	Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
mn 1 Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	accept an approved bid specification and	Column 6 e-Approved Brands, MSCS will equal (1) as long as it meets the (2) tested and approved through ple Submission Process.	LOTE ARE	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 24	Column 25	Column 26
03 SERVINGS	Biscuits - Round, IQF, oven ready, pre-portioned, pre-formed frozen dough with uniformity of size. Made with USDA commodity flour 100912. Must provide 2 oz or grain per USDA Child Nutrition Program Guidelines. Must be transfat free. Approximate Pack: 216-2.2 oz Biscuits per case. Ship Lot: 400 Cases		500,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
3 SERVINGS			500,000	Rich Products Corporation	2% Net for 10 days	Rich's 06063	Rich's 06063	100912	33	240	0.0325	0.0109915	0.011	7.8	2.64	34.6	\$0.02	\$37.2400	2083.33	\$77,583.33		Award	
	TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT	#VALUE!			
07 SERVINGS	Fully-Cooked Smoked Turkey Kielbasa. Made with USDA commodity turkey (100124 or vendor must specify USDA commodity code used and value per pound). Serving must provide a minimum of 2 oz. meat/meat alternate for the Child Nutrition program. Made with coarse ground dark turkey meat. No more than 600mg sodium per serving. Approximate Pack: 100-3.0 oz. servings per case. SHIP LOT: 300 cases	Jennie - O -613620	200,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
7 SERVINGS	Fully-Cooked Smoked Turkey Kielbasa. Made with USDA commodity turkey (100124 or vendor must specify USDA commodity code used and value per pound). Serving must provide a minimum of 2 oz. meat/meat alternate for the Child Nutrition program. Made with coarse ground dark turkey meat. No more than 600mg sodium per serving. Approximate Pack: 100-3.0 oz. servings per case. SHIP LOT: 300 cases	Jennie - O -613620	200,000	Hormel Foods Sales, LLC - Jennie-O	Net 10 Days from date of invoice	Jennie-O - 613620	Jennie-O - 613620	100124	18	96	0.1778	0.2775	0.52312	17.09	26.64	50.22	\$0.80	\$76.8600	2,083	\$160,125.00		Award	
	TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL				
.4 SERVINGS	Chipotle Steak Crumbles - Ground Beef Crumbles with a low sodium chipotle flavored seasoning. Frozen. Made with USDA commodity beef 100154. No soy, vegetable proteins or fillers added. Boil in bag product. Serving size to meet 2 oz. meat/meat alternate for the Child Nutrition program. Packed approximately 4/5 lb. bags per case. Please indicate if bag is packed differently. Ship Lot: 300 Cases		800,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
.4 SERVINGS	Chipotle Steak Crumbles - Ground Beef Crumbles with a low sodium chipotle flavored seasoning. Frozen. Made with USDA commodity beef 100154. No soy, vegetable proteins or fillers added. Boil in bag product. Serving size to meet 2 oz. meat/meat alternate for the Child Nutrition program. Packed approximately 4/5 lb. bags per case. Please indicate if bag is packed differently. Ship Lot: 300 Cases		800,000	Albie's Food Products, LLC	Net 14 Days	Albie's/Pieper's Chipotle Beef Crumble # 23315	Albie's/Pieper's Chipotle Beef Crumble # 23315	100154	20	128	0.1803	0.5115	0.5212	23.08	71.6	66.72	\$1.03	\$138.3200	6,250	\$864,500.00	4 Pallet/320 case Minimum - 21 day lead	Award	
	TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				

												•	ŭ		y tile Selv	Ū								
Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Commodity	Value of Donated Commodity per Serving		Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
1019	SERVING	Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. Made with USDA Commodity beef (100154). Serving to provide a minimum of 2.75 ozs 3.0 ozs. meat/meat GS alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180 - 3.0 oz. servings per case.	American Food Group															\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
1019	SERVING	Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. Made with USDA Commodity beef (100154). Serving to provide a minimum of 2.75 ozs 3.0 ozs. meat/meat Galternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180 - 3.0 oz. servings per case.	American Food Group		DON LEE FARMS	NET 30 DAYS	DON LEE FARMS, CNQ163003	DON LEE FARMS, CNQ163003	100154	33.75	180	0.2605	0.8082	0.33	46.89	145.47	59.4	\$1.14	\$204.8700	4,444	\$910,533.33	5,000 lbs. COMBINED MINIMUM FOR DELIVERY.	Award	Awarded to vendor because of carryover amount.
1019	SERVING	Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. Made with USDA Commodity beef (100154). Serving to provide a minimum of 2.75 ozs 3.0 ozs. meat/meat GS alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180 - 3.0 oz. servings per case.	American Food Group		Integrated Food Service	NET 30	Hot Off The Grill C32300B-NF	Hot Off The Grill C32300B-NF	1000154	16.88	90	0.250888	3.1024	\$0.53	22.58	\$70.05	\$48.00	\$3.64	\$118.0500	8,88,8	\$1,049,333.33			
1019	SERVING	Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. Made with USDA Commodity beef (100154). Serving to provide a minimum of 2.75 ozs 3.0 ozs. meat/meat GS alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180 - 3.0 oz. servings per case.	American Food Group		JTM	Net 30	JTM CP5670	JTM CP5670	100154	30.00#	195	0.1945	0.6033	0.2523	37.92	\$117.64	\$49.20	\$0.86	\$166.8400	4,103	\$684,471.79	Minimums: Direct Orders = 6300 Pounds, Can be mixed product & must order in layers. Distibutor orders: 4200 pounds, Can be mixed product & must order in layers.		
1019	SERVING	Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. Made with USDA Commodity beef (100154). Serving to provide a minimum of 2.75 ozs 3.0 ozs. meat/meat GS alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180 - 3.0 oz. servings per case.	American Food Group		Tyson	5,000 lbs min per drop location	AdvancePierre™ - 10000015230	AdvancePierre™ 10000015230	100154	30	160	0.2695625	0.8363125	0.3078	43.13	\$133.81	\$49.25	\$1.14	\$183.0600	5,000	\$915,300.00			
1019	SERVING	Grill marks, fully cooked, IQF. No LFTB or Ammonium Hydroxide. Made with USDA Commodity beef (100154). Serving to provide a minimum of 2.75 ozs 3.0 ozs. meat/meat GS alternate for the Child Nutrition program. Burger needs to provide a adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180 - 3.0 oz. servings per case.	American Food Group		Maid-Rite	net 30	Maid-Rite75156- 9333	Maid-Rite75156- 9333	100154	30	160	0.2788	0.8652	1.159	44.32	\$138.43	\$47.10	\$0.29	\$185.5300	5,000	\$927,650.00			Calculation was incorrect on column S (Commodity Value Plus Processing Fee per Serving) The actual cost was \$2.02. Column N (Value of Donated Commodity per Serving) plus Column O (Commodity Processing Fee per Serving) (028652 +1.159)= 2.02
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT				

			Approved	Estimated Servings			Manufacturer Brand &	Bidder's Brand &	Commodity	Finished Product	Servings	Pounds of Donated	Value of Donated	Commodity Processing	Pounds of Donated	Value of Donated	Commodity	Commodity Value Plus	Commodity Value Plus	Total Cases	Extended Total			
Stock ID	Unit	Description	Brand & Product Codes	2023 - 2024	Vendor	Terms	Product Code	Product Code	Code(s)	Case Weight (Pounds)		Commodity per Serving	Commodity per Serving	Fee per Serving	Commodity per Case	Commodity per Case	Processing Fee per Case	Processing Fee per Serving	Processing Fee per Case	Required	Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
1069		Chicken Fajita Strips - Fully Cooked Frozen - Made with USDA commodity chicken 100103. White and dark meat, IOF chicken Fajita strips, approximately 1/2 inch wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 450 Cases	Koch Foods 88408	750,000														\$0.00	\$0.0000	#DIV/0!	#DIV/01			
1069		approximately 1/2 incn wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required.	Koch Foods 88408	750,000	Gold Creek Foods	net 30 days	Gold Creek 791896	Gold Creek 791896	100103	32	239	0.244	0.316	0.379	58.38	75.57	90.56	\$0.70	\$166.1300	3,138	\$521,328.45	Sample nutritionals pre-approved. Sample not available on 2/28. Can provide sample on 3/15 if requested.		No sample sent Item not approved
.069		Chicken Fajita Strips - Fully Cooked Frozen - Made with USDA commodity chicken 100103. White and dark meat, IQF chicken fajita strips, approximately 1/2 inch wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 450 Cases	Koch Foods 88408	750,000	Pilgrim's/Goldkist	Net 30	Pilgrim's 1250	Pilgrim's 1250	100103	30	194	0.165	0.214	0.382	32.09	41.54	74.09	\$0.60	\$115.6300	3,866	\$447,023.20	10,000# minimum ship	Award	
069		Chicken Fajita Strips - Fully Cooked Frozen - Made with USDA commodity chicken 100103. White and dark meat, IQF chicken fajita strips, approximated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/NA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 450 Cases	Koch Foods 88408	750,000	Tyson	5,000 lbs min per drop location	Tyson® - 10046210928	Tyson*- 10046210928	100103	30	160	0.2865	0.370875	0.3239375	45.84	59.34	51.83	\$0.69	\$111.1700	4,688	\$521,109.38			
1069		Chicken Fajita Strips - Fully Cooked Frozen - Made with USDA commodity chicken 100103. White and dark meat, IOF Chicken Fajita strips, approximately 1/2 inch wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 450 Cases	Koch Foods 88408	750,000	Tyson	5,000 lbs min per drop location	Tyson* - 10046210928	Tyson* - 10046210928	100103	30	171	0.241169591	0.312163743	0.356432749	41.24	53.38	60.95	\$0.67	\$114.3300	4,386	\$501,447.37			
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				
1130	SERVINGS	Fish Portion, Breaded Fish, Wedge/Portion Shaped. Made with USDA commodity Pollock (110601). Flaky fish with crunchy whole grain breading, approximate 4 oz portion to meet 2M/MA equivalent in Child Nutrition Program. Approximately 40 servings per case. Ship Lot: 300 Cases	Trident 418306	500,000														0.00	\$0.0000	#DIV/0!	#DIV/0!			
1130		Fish Portion, Breaded Fish, Wedge/Portion Shaped. Made with USDA commodity Pollock (110601). Flaky fish with crunchy whole grain breading, approximate 4 oz portion to meet 2M/MA equivalent in Child Nutrition Program. Approximately 40 servings per case. Ship Lot: 300 Cases	Trident 418306	500,000	Trident	NET 30 days	Trident 418306	418306	110601	10	40	.158	.359	.55	6.32	\$14.3700	\$22.0300	0.91	\$36.4000	12,500	\$455,000.00		Award	

												•	·		by the Serv	Ū								
Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)		•		•	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				
1409 Si	ERVINGS		BUTTERBALL (2265563902) JENNIE-O (256821) JENNIE-O (203425) Cargill/ Harvest Provisions 700273	400,000														0.00	\$0.0000	#DIV/0!	#DIV/0!			
1409 Si	ERVINGS		BUTTERBALL (2265563902) JENNIE-O (256821) JENNIE-O (203425) Cargill/ Harvest Provisions 700273	400,000	Butterball	N10	Butterball 2265589202	Butterball 2265589202	100124	18	80	0.34375	0.5365	0.4316	27.5	42.92	34.53	0.97	\$77.4500	5,000	\$387,250.00	Direct discount 5000 cs x 34.53 = \$172.650		
1409 Si	ERVINGS		BUTTERBALL (2265563902) JENNIE-O (256821) JENNIE-O (203425) Cargill/ Harvest Provisions 700273		Hormel Foods Sales, LLC - Jennie-O	Net 10 Days from date of invoice	Jennie-O - 256821	Jennie-O - 256821	100124	12	65	0.1992	0.3219	0.44571	12.95	20.28	28.08	0.77	\$48.3600	6,154	\$297,600.00		Award	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL				
.473 Si	ERVINGS			950,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
473 SI	ERVINGS	Crinkle Cut Potatoes - 1/2 inch cut ready to be baked, frozen, containing zero grams of trans fat. Made with USDA commodity potatoes (100506). Each serving must meet 1/2 cup of vegetable. Approximately 192-4 oz. servings per case. Approximate Pack: 6-4 lbs. per case. SHIP LOT: 500 Cases	McCain Foods (MCF03761) Simplot 036289	950,000	McCain	2/10 NET 15	McCain MCF03761	McCain MCF03761	100506	30	232	0.2351	0.03189	0.1157	54.55	7.4	26.85	\$0.15	\$34.2500	4,095	\$140,247.84	Simplot and Monarch do not process.	Award	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				
.662 SI	ERVINGS	one serving portion equals 1/2 cup cooked	MCCAIN (MCF04851) SIMPLOT 10071179757672 MONARCH 700496 CAVENDISH - 14869 30216	700,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
1662 SI	ERVINGS		MCCAIN (MCEO/851)	700,000	McCain	2/10 NET 15	McCain MCF04851	McCain MCF04851	100506	16	82	0.2439	0.03304	0.3714	20	2.71	30.458	\$0.40	\$33.1680	8,537	\$283,141.46	Simplot and Monarch do not process.	Award	

													ocessing		,									
Stock IE	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Commodity			Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				
1900	SERVING	WG Cheese Calzone, - Frozen. Made with USDA Commodity Mozzarella cheese (110244).Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5.5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	300,000														\$0.00	\$0.0000	#DIV/0!	#DIV/01			
1900	SERVING	WG Cheese Calzone, - Frozen. Made with USDA Commodity Mozzarella cheese (110244).Bulk packed whole grain Calzone filled with mozzarella cheese and red pasts asuce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	300,000	Albie's Food Products, LLC	Net 14 Days	Albie's #816 48-5 oz Cheese Calzone	Albie's #816 48- 5 oz Cheese Calzone	110244	16	48	0.101	0.1943	0.77	4.85	9.33	37.04	\$0.96	\$46.3700	6,250	\$289,812.50	240 FULL case minimum		
1900	SERVING	WG Cheese Calzone, - Frozen. Made with USDA Commodity Mozzarella cheese (110244).Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5.5-4.0z.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	300,000	National Food Group	30 Days Net	NFG/Elated Plates 240B	Elated Plates/ 240B	110244	27	80	0.11687	0.22475	0.675	9.35	\$17.9800	\$54.0000	\$0.90	\$71.9800	3,750		Sample Sent. Pack size is 80 /5oz., 64 cases per pallet.	Award	
1900	SERVING	WG Cheese Calzone, - Frozen. Made with USDA Commodity Mozzarella cheese (110244).Bulk packed whole grain Calzone filled with mozzarella cheese and red pasts asuce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	300,000	Tasty Brands	Net 20, 6 Pall	Tasty Brands 53201	Tasty Brands 53201	110242	30	96	0.125	0.244	0.662	12.00	\$23.3700	\$63.5100	\$0.91	\$86.8800	3,125	\$271,500.00			
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				
1903	SERVING	Breakfast Calzone, IW - Frozen. Made with USDA Commodity cheese (110244). Individually wrapped whole grain Calzone filled with Italian sausage, scrambled whole eggs and cheese. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases		350,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			

Stock	ID Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Terms	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Commodity		Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
190	3 SERVINI	Breakfast Calzone, IW - Frozen. Made with USDA Commodity cheese (110244). Individually wrapped whole grain Calzone filled with Italian sausage, scrambled whole eggs and cheese. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. and/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases		350,000	Albie's Food Products, LLC	Net 14 Days	Turkey Saus/Egg/Chs	Albie's #843 60- 3 oz Turkey Saus/Egg/Chs Breakfast Pocket	110244	12.25	60	0.0303	0.0583	0.68	1.82	3.5	40.6	\$0.74	\$44.1000	5,833	\$257,250.00	240 FULL case minimum	AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -FRZ/SRV																		EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE				
240	3 SERVING	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Made with USDA commodity turkey (100124). Smokehouse flavored. Made with all natural ingredients with no preservatives, intires, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. Ship Lot: 200 Cases	Jennie-O 207130	300,000														\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
240	3 SERVING	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Made with USDA commodity turkey (100124). Smokehouse flavored. Made with all natural ingredients with no preservatives, intirties, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. Ship Lot: 200 Cases	Jennie-0 207130	300,000	Butterball	N10		Butterball 2265589209	100124	30	133	0.2255	0.3425	0.5259	29.19	45.56	69.94	\$0.87	\$115.5000	2,256	\$260,526.32	Direct discount 2256 x 69.94 = \$157,784.64		No sample sent Item not approved
240	3 SERVING	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Made with USDA commodity turkey (100124). Smokehouse flavored. Made with all natural ingredients with no preservatives, intirties, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. Ship Lot: 200 Cases	Jennie-O 207130	300,000	Hormel Foods Sales, LLC - Jennie-O	Net 10 Days from date of invoice		Jennie-O - 207130	100124	30	400	0.0794	0.1245	0.513	31.76	49.8	205.2	\$0.64	\$255.0000	750	\$191,250.00		AWARD	

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4 PACK SIZES FOR THE FOLLOWING		Column 6 e-Approved Brands, an approved equal	Column 7	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	(1) as long as it specification an approved throug		ALL SHIP LOTS ARE IN CASES.										
1003	SERVINGS	Biscuits - Round, IQF, oven ready, pre-portioned, pre-formed frozen dough with uniformity of size. Made with enriched flour. Must provide 2 oz or grain per USDA Child Nutrition Program Guidelines. Must be transfat free. Approximate Pack: 216-2.2 oz Biscuits per case. Ship Lot: 400 Cases	ADVANCE PIERRE 2709340 PILLSBURY 31524 RICH'S 6063	200,000						#DIV/0!	#DIV/0!					
1003	SERVINGS	Biscuits - Round, IQF, oven ready, pre-portioned, pre-formed frozen dough with uniformity of size. Made with enriched flour. Must provide 2 oz or grain per USDA Child Nutrition Program Guidelines. Must be transfat free. Approximate Pack: 216-2.2 oz Biscuits per case. Ship Lot: 400 Cases	ADVANCE PIERRE 2709340 PILLSBURY 31524 RICH'S 6063	200,000	Rich's 06063	Rich's 06063	240	\$0.1552	\$ 37.24	833.33	\$31,033.33	70	7 days		AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						
1007	SERVINGS	Fully-Cooked Smoked Turkey Kielbasa. Made with coarse ground dark turkey meat. Serving must provide a minimum of 2 oz. meat/meat alternate for the Child Nutrition program. No more than 600mg sodium per serving. Approximate Pack: 100-3.0 oz. servings per case. SHIP LOT: 300 cases	Jennie - O -613620	100,000						#DIV/0!	#DIV/0!					
1007	SERVINGS	Fully-Cooked Smoked Turkey Kielbasa. Made with coarse ground dark turkey meat. Serving must provide a minimum of 2 oz. meat/meat alternate for the Child Nutrition program. No more than 600mg sodium per serving. Approximate Pack: 100-3.0 oz. servings per case. SHIP LOT: 300 cases	Jennie - O -613620	100,000	Jennie-O - 613620	Jennie-O - 613620	96	\$0.8006	\$ 76.86	1041.67	\$80,062.50	80	10 Days		AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Brand & Product Code		Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	MSCS will accept a (1) as long as i specification an approved throug	column 6 e-Approved Brands, an approved equal t meets the bid d (2) tested and th MSCS's Sample on Process.	ALL SHIP LOTS ARE IN CASES.	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1014	SERVINGS	Chipotle Steak Crumbles - Ground Beef Crumbles with a low sodium chipotle flavored seasoning. Frozen. No soy, vegetable proteins or fillers added. Boil in bag product. Serving size to meet 2 oz. meat/meat alternate for the Child Nutrition program. Packed approximately 4/5 lb. bags per case. Please indicate if bag is packed differently. Ship Lot: 300 Cases	No Approved Brands	150,000						#DIV/0!	#DIV/0!					
1014	SERVINGS	Chipotle Steak Crumbles - Ground Beef Crumbles with a low sodium chipotle flavored seasoning. Frozen. No soy, vegetable proteins or fillers added. Boil in bag product. Serving size to meet 2 oz. meat/meat alternate for the Child Nutrition program. Packed approximately 4/5 lb. bags per case. Please indicate if bag is packed differently. Ship Lot: 300 Cases	No Approved Brands	150,000	Albie's/Pieper's Chipotle Beef Crumble # 23315	Albie's/Pieper's Chipotle Beef Crumble # 23315	128	\$0.9000	\$ 106.20	1171.88	\$124,453.13	80	21 day lead		AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER LINIT						
1019	SERVINGS	meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180-3.0 oz. servings per case.	INTEGRATED FOOD SERVICE (N32300B-NF) DON LEE FARMS (CNQ163003) American Food Group (290802) Advanced Pierre (C32300B-NF) Advance Pierre (1-15-230) Tyson (12195) Maid Rite - 75156 - 93330	200,000						#DIV/0!	#DIV/0!					
1019	SERVINGS	meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180-3.0 oz. servings per case.	INTEGRATED FOOD SERVICE (N32300B-NF) DON LEE FARMS (CNQ163003) American Food Group (290802) Advanced Pierre (C32300B-NF) Advance Pierre (1-15-230) Tyson (12195) Maid Rite - 75156 - 93330	200,000	DON LEE FARMS, CN163003	DON LEE FARMS, CN163003	180	\$0.7500	\$ 135.00	1111.11	\$150,000.00	49	BUSINESS	5,000 lbs. COMBINED MINIMUM FOR DELIVERY.	AWARD	Awarded to vendor because of carryover amount.

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	MSCS will accept a (1) as long as in specification an approved throug	column 6 e-Approved Brands, an approved equal t meets the bid d (2) tested and th MSCS's Sample on Process.	ALL SHIP LOTS ARE IN CASES.	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1019	SERVINGS	100% Ground Beef Steak Burger With Natural Grill marks, fully cooked, IQF.Made with 100% ground beef. No LFTB or Ammonium Hydroxide. Serving to provide a minimum of 2.75oz -3.0 oz. meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180-3.0 oz. servings per case. SHIP LOT: 300 Cases	INTEGRATED FOOD SERVICE (N32300B-NF) DON LEE FARMS (CNQ163003) American Food Group (290802) Advanced Pierre (C32300B-NF) Advance Pierre (1-15-230) Tyson (12195) Maid Rite - 75156 - 93330	200,000	Hot Off The Grill N32300B-NF	Hot Off The Grill N32300B-NF	90	\$1.2670	\$ 114.00	2222.22	\$253,333.33	84	4 weeks			
1019	SERVINGS	100% Ground Beef Steak Burger With Natural Grill marks, fully cooked, IQF.Made with 100% ground beef. No LFTB or Ammonium Hydroxide. Serving to provide a minimum of 2.75oz -3.0 oz. meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180-3.0 oz. servings per case. SHIP LOT: 300 Cases	INTEGRATED FOOD SERVICE (N32300B-NF) DON LEE FARMS (CNQ163003) American Food Group (290802) Advanced Pierre (C32300B-NF) Advance Pierre (1-15-230) Tyson (12195) Maid Rite - 75156 - 93330	200,000	JTM 5670CE	JTM 5670CE	195	\$0.8556	\$166.84	1025.64	\$171,117.95	24	21 days	Direct Orders = 6300 Pounds, Can be mixed product & must order in layers. Distibutor orders: 4200 pounds, Can be mixed product & must order in layers.		
1019	SERVINGS	100% Ground Beef Steak Burger With Natural Grill marks, fully cooked, IQF.Made with 100% ground beef. No LFTB or Ammonium Hydroxide. Serving to provide a minimum of 2.75oz -3.0 oz. meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180-3.0 oz. servings per case. SHIP LOT: 300 Cases	INTEGRATED FOOD SERVICE (N32300B-NF) DON LEE FARMS (CNQ163003) American Food Group (290802) Advanced Pierre (C32300B-NF) Advance Pierre (1-15-230) Tyson (12195) Maid Rite - 75156 - 93330	200,000	The Pub- 10000015030	The Pub- 10000015030	53	\$1.0180	\$53.96	3773.58	\$203,622.38	72	14 days			
1019	SERVINGS	100% Ground Beef Steak Burger With Natural Grill marks, fully cooked, IQF.Made with 100% ground beef. No LFTB or Ammonium Hydroxide. Serving to provide a minimum of 2.75oz -3.0 oz. meat/meat alternate for the Child Nutrition program. Burger needs to provide adequate bun coverage for a standard Hamburger Bun. Approximate Pack: 180-3.0 oz. servings per case. SHIP LOT: 300 Cases	INTEGRATED FOOD SERVICE (N32300B-NF) DON LEE FARMS (CNQ163003) American Food Group (290802) Advanced Pierre (C32300B-NF) Advance Pierre (1-15-230) Tyson (12195) Maid Rite - 75156 - 93330	200,000	Maid-Rite 75156- 03330	Maid-Rite 75156- 03330	160	\$0.8718	\$139.50	1250.00	\$174,375.00	50				
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						

Stock	Unit	Description	Approved Brand &	Estimated Servings for	Manufacturer's Brand & Product	Bidder's Brand &	Estimated	Cost Per	Cost Per	Required Number of	Extended Total	Number of Cases	Lead Time	Comment	AWARD	Menu Planning Notes
Number			Manufacturer's Product Code)	2023-2024	Code	Product Code	Servings Per Case	Serving	Case	Cases	Cost	per Pallet				
Column 1	Column 2	Column 3	Column 4	Column 5 Items listed are Pre	Column 6 e-Approved Brands,	Column 7	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	(1) as long as it specification an	d (2) tested and h MSCS's Sample	ALL SHIP LOTS ARE IN CASES.										
1069	SERVINGS	Chicken Fajita Strips - Fully Cooked Frozen - Made with white and dark meat, IQF chicken fajita strips, approximately 1/2 inch wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 250 Cases	PILGRIMS PRIDE CORP./ GOLD KIST FARMS (1325) (1250) Proview 62600 Tyson 4621-0925 King's Delight 50197 Koch Foods 88408 Good Source 63979 Tysons 4621 - 0928	100,425						#DIV/0!	#DIV/0!					
1069	SERVINGS	Chicken Fajita Strips - Fully Cooked Frozen - Made with white and dark meat, IQF chicken fajita strips, approximately 1/2 inch wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 250 Cases	PILGRIMS PRIDE CORP./ GOLD KIST FARMS (1325) (1250) Proview 62600 Tyson 4621-0925 King's Delight 50197 Koch Foods 88408 Good Source 63979 Tysons 4621 - 0928	100,425	Gold Creek Foods 791896	Gold Creek Foods 791896	239	\$0.6950	\$ 166.13	420.19	\$69,805.88	49	21 days	Sample nutritionals pre- approved. Sample not available on 2/28. Can provide sample on 3/15 if requested.		
1069	SERVINGS	Chicken Fajita Strips - Fully Cooked Frozen - Made with white and dark meat, IQF chicken fajita strips, approximately 1/2 inch wide, produced from marinated boneless, skinless, chicken pieces. Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz M/MA. CN label or product formulation sheet required. Approximate Pack: 200 - 2.5 oz servings per case. Ship Lot: 250 Cases	PILGRIMS PRIDE CORP./ GOLD KIST FARMS (1325) (1250) Proview 62600 Tyson 4621-0925 King's Delight 50197 Koch Foods 88408 Good Source 63979 Tysons 4621 - 0928	100,425	Pilgrim's 1250	Pilgrim's 1250	194	\$0.5960	\$ 115.63	517.65	\$59,856.41	56	21 days	10,000# minimum ship	AWARD	
1069	SERVINGS	Natural grill marks to appear on the strips. No TVP added. Serving Size equal to a minimum of 2 oz	PILGRIMS PRIDE CORP./ GOLD KIST FARMS (1325) (1250) Proview 62600 Tyson 4621-0925 King's Delight 50197 Koch Foods 88408 Good Source 63979 Tysons 4621 - 0928	100,425	Tyson® - 10046210928	Tyson® - 10046210928	160	\$0.6948	\$ 111.17	627.66	\$69,776.96	48	14 days			
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER LINIT						

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Brand & Product Code		Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD Menu Planning Notes
Column 1	Column 2	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	MSCS will accept (1) as long as i specification ar approved throug	Column 6 e-Approved Brands, an approved equal t meets the bid d (2) tested and th MSCS's Sample on Process.	ALL SHIP LOTS ARE IN CASES.	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17 Column 18
1130	SERVINGS	Fish Portion, Breaded Fish, Wedge/Portion Shaped. Made with Pollock. Flaky fish with crunchy whole grain breading, approximate 4 oz. portion to meet 2M/MA equivalent in Child Nutrition Program. Approximately 40 servings per case. Ship Lot: 300 Cases	TRIDENT 418306	150,000	TRIDENT 418306	TRIDENT 418306	40	0.91	\$ 36.00	3750.00	\$135,000.00				AWARD
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT					
1409	SERVINGS	Frozen, fully cooked, sliced turkey ham. Slices to be no more that 1/2 oz. Produced from turkey thigh meat portions, smoked and cured. Sliced. CN label or crediting statement required for a serving size 1 oz. meat/meat alternate. Approximate Pack 12-14 lbs./case. SHIP LOT: 400 Cases	BUTTERBALL (2265563902) JENNIE-O (256821) JENNIE-O (203425) Cargill/ Harvest Provisions 700273	400,000							\$0.00				
1409	SERVINGS	Frozen, fully cooked, sliced turkey ham. Slices to be no more that 1/2 oz. Produced from turkey thigh meat portions, smoked and cured. Sliced. CN label or crediting statement required for a serving size 1 oz. meat/meat alternate. Approximate Pack 12-14 lbs./case. SHIP LOT: 400 Cases	BUTTERBALL (2265563902) JENNIE-O (256821) JENNIE-O (203425) Cargill/ Harvest Provisions 700273	400,000	Butterball 2265589202	Butterball 2265589202	80	\$0.9681	\$ 34.53		\$0.00	80	28 days		
1409	SERVINGS	Frozen, fully cooked, sliced turkey ham. Slices to be no more that 1/2 oz. Produced from turkey thigh meat portions, smoked and cured. Sliced. CN label or crediting statement required for a serving size 1 oz. meat/meat alternate. Approximate Pack 12-14 lbs./case. SHIP LOT: 400 Cases	BUTTERBALL (2265563902) JENNIE-O (256821) JENNIE-O (203425) Cargill/ Harvest Provisions 700273	400,000	Jennie-O - 256821	Jennie-O - 256821	65	\$0.7676	\$ 48.36		\$0.00	96	10 Days		AWARD
1473	SERVINGS	Crinkle Cut Potatoes - 1/2 inch cut ready to be baked, frozen, containing zero grams of trans fat. Each serving must meet 1/2 cup of vegetable. Approximately 192-4 oz. servings per case. SHIP LOT: 500 Cases	No Approved Brands	250,000						#DIV/0!	#DIV/0!				

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case		Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	(1) as long as it specification an approved throug	an approved equal	ALL SHIP LOTS ARE	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1473	SERVINGS	Crinkle Cut Potatoes - 1/2 inch cut ready to be baked, frozen, containing zero grams of trans fat. Each serving must meet 1/2 cup of vegetable. Approximately 192-4 oz. servings per case. SHIP LOT: 500 Cases	No Approved Brands	250,000	MCCain MCF03761	MCCain MCF03761	232	0.1475	\$ 34.25	1077.59	\$36,907.33	70	10 Days		AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						
1662	SERVINGS	IAnnroximate Pack 4/4lh hags her case.	MCCAIN (MCFO4851) SIMPLOT 10071179757672 MONARCH 700496 CAVENDISH - 14869 30216	150,000						#DIV/0!	#DIV/0!					
1662	SERVINGS	Serving portion equals 1/2 cup cooked vegetable. Approximate Pack 4/4lh hags per case	MCCAIN (MCFO4851) SIMPLOT 10071179757672 MONARCH 700496 CAVENDISH - 14869 30216	150,000	McCain MCF04851	McCain MCF04851	82	\$0.3891	\$ 33.17	1829.27	\$60,673.17	70	10 Days		AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						
1900	SERVINGS	WG Cheese Calzone, - Frozen. Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	100,000						#DIV/0!	#DIV/0!					

Stock Number	Unit	Description	Manufacturer's Product Code)	Estimated Servings for 2023-2024	Brand & Product Code		Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	MSCS will accept (1) as long as i specification ar approved throug	column 6 e-Approved Brands, an approved equal t meets the bid d (2) tested and sh MSCS's Sample on Process.	ALL SHIP LOTS ARE IN CASES.	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1900	SERVINGS	WG Cheese Calzone, - Frozen. Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	100 000	Albie's Food Products, LLC - #816 48-5 oz Cheese Calzone	Albie's #816 48-5 oz Cheese Calzone	48	\$0.9700	\$ 46.37	2083.33	\$96,604.17	80	12-16 business day			
1900	SERVINGS	WG Cheese Calzone, - Frozen. Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	100,000	NFG/Elated Plates 240B	Elated Plates 240B	80	\$0.8990	72	1250.00	\$89,975.00	64	21 Days	Sample Sent	AWARD	
1900	SERVINGS	WG Cheese Calzone, - Frozen. Bulk packed whole grain Calzone filled with mozzarella cheese and red pasta sauce. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 2 oz. meat/meat alternate and 2 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	100,000	Tasty Brands 53201	Tasty Brands 53201	96	\$0.9050	87	1041.67	\$90,500.00	56	14 days			
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER LINIT						
1903	SERVINGS	Breakfast Calzone, IW - Frozen, individually wrapped whole grain Calzone filled with Italian sausage, scrambled whole eggs and cheese. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	150,000						#DIV/0!	#DIV/0!					

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	MSCS will accept (1) as long as i specification ar approved throu	e-Approved Brands, an approved equal it meets the bid nd (2) tested and gh MSCS's Sample on Process.	ALL SHIP LOTS ARE IN CASES.										
1903	SERVINGS	Breakfast Calzone, IW - Frozen, individually wrapped whole grain Calzone filled with Italian sausage, scrambled whole eggs and cheese. Whole grain crust is light and golden brown. Serving size of 1 calzone (5 - 5.4 oz.) to meet 1 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Packed approximately 48 per case. Please indicate if packed differently. Ship Lot: 500 Cases	No Approved Brands	150,000	Albie's Food Products, LLC - #843 60-3 oz Turkey Saus/Egg/Chs Breakfast Pocket	Albie's Food Products, LLC - #843 60-3 oz Turkey Saus/Egg/Chs Breakfast Pocket	60	\$0.7400	\$ 44.10	2500.00	\$110,250.00	80	12-16 business day		AWARD	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID -FRZ/SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER LINIT						
2403		Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Smokehouse flavored. Made with all natural ingredients with no preservatives, nitrites, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. Ship Lot: 200 Cases	Jennie-O 207130	150,000						#DIV/0!	#DIV/0!					
2403	SERVINGS	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Smokehouse flavored. Made with all natural ingredients with no preservatives, nitrites, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. Ship Lot: 200 Cases	Jennie-O 207130	150,000	Butterball 2265589209	Butterball 2265589209	133	\$0.5259	\$ 115.50	1127.82	\$130,263.16	48	28 days			
2403	SERVINGS	Turkey Breast Stick, IW - Frozen, individually wrapped, all breast turkey meat stick. Smokehouse flavored. Made with all natural ingredients with no preservatives, nitrites, nitrates or soy fillers. Clean labeled product. Must provide 1 oz M/MA for the CN program. Case to contain approximately 400 servings. Ship Lot: 200 Cases	Jennie-O 207130	150,000	Jennie-O - 207130	Jennie-O - 207130	400	\$0.6375	\$ 255.00	375.00	\$95,625.00	42	10 Days		AWARD	

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodit y Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving		Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 24	Column 25	Column 26
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed Approved Bran accept an approve as long as it specification a and approve MSCS's Sample Proce	ds, MSCS will oved equal (1) leets the bid nd (2) tested ed through e Submission																		
1053	SERVINGS	(110242). Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 6-5 pound blocks. Packed 960 1/2 oz.	(13364) Schreiber (3338472) Land O' Lakes (46255) CP	2,000,000													\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
1053	SERVINGS	(110242). Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 6-5 pound blocks. Packed 960 1/2 oz.	(13364) Schreiber (3338472) Land O' Lakes (46255) CP	2,000,000			BONGARDS 111321	110242 CHEESE NAT AMER FBD BARREL- 500 LB	30	960	0.0235	0.0457	0.0289	22.53	43.88	27.68	\$0.07	\$71.5600	2083.33	\$149,083.33		Award	
1053	SERVINGS	(110242). Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 6-5 pound blocks. Packed 960 1/2 oz.	(13364) Schreiber (3338472) Land O' Lakes (46255) CP	2,000,000	Land O'Lakes	LOL #46255	LOL #46255	110242	30	480	0.0454	0.0884	0.0591	21.77	42.4	28.35	\$0.15	\$70.7500	4166.67	\$294,791.67			
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT COOLER SRV																	EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT				

Stock	: ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodit y Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case	Commodity Processing Fee per Case	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
Colur 1	mn Co	lumn 2	Column 3	Column 4	Column 5	Column 6	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 24	Column 25	Column 26
			Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.		Items listed Approved Bran accept an appro as long as it m specification a and approve MSCS's Sample Proce	ids, MSCS will oved equal (1) neets the bid and (2) tested ed through e Submission																		
105	6 SER	RVINGS	•	Land O LAKES 41485 Bongards 771021	1,200,000													\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
105	6 SER	RVINGS	•	Land O LAKES 41485 Bongards 771021	1,200,000	Bongards	BONGARDS 771021	BONGARDS 771021	110242 CHEESE NAT AMER FBD BARREL- 500 LB	20	320	20	0.1217	0.051	20	38.95	16.3	\$0.17	\$55.2500	3750.00	\$207,187.50			
105	6 SER	RVINGS	•	Land O LAKES 41485 Bongards 771021	1,200,000	Land O'Lakes	LOL #41485	LOL #41485	110242	20	320	0.0625	0.1218	0.0484	20	38.95	15.48	\$0.17	\$54.4300	3750.00	\$204,112.50		Award	Awarded to vendor because of carry over amount.

							Equivalent - Co	boier by the S	erving							
Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND	Brands, MSCS approved equa meets the bid s (2) tested and a MSCS's Samp	e Pre-Approved will accept an (1) as long as it specification and pproved through ole Submission cess.	ALL SHIP LOTS ARE IN CASES.										
1053	SERVINGS	Ship Let: 500 Cases	BONGARDS (101321) CHURCHFIELD TRADING (13364) Schreiber (3338472) Land O' Lakes (46255) CP US Foods/School Choice (13364)	768,000						#DIV/0!	#DIV/0!					
1053	SERVINGS	Cheese, Sliced, Pasteurized LF Yellow American - Slices to equal 1/2 oz. CN Label or crediting statement required to show the serving size of 1/2 oz. M/MA. Packed: 6-5 pound blocks. Packed 960 1/2 oz. slices/case. Serving = 1 slice.	BONGARDS (101321) CHURCHFIELD TRADING (13364) Schreiber (3338472) Land O' Lakes (46255) CP US Foods/School Choice (13364)	768,000		BONGARDS 111321	960	0.0746	71.56	800	\$59.68	60	15 business days		Award	
1053	SERVINGS	Ship Let: 500 Cases	BONGARDS (101321) CHURCHFIELD TRADING (13364) Schreiber (3338472) Land O' Lakes (46255) CP US Foods/School Choice (13364)	768,000	LOL#46255	LOL#46255	480	0.1474	70.75	1600	\$235.84	60	7-10 Days			
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY ITEM LOCATED ON TAB COMMODITY BID - COOLER-SRV								EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						

					<u> </u>	- Committee Columb	equivalent - Co		70. VIII.g							
Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND	Brands, MSC approved equi meets the bid (2) tested and a MSCS's Sam	re Pre-Approved S will accept an al (1) as long as it specification and approved through ple Submission occss.	ALL SHIP LOTS ARE IN CASES.										
1056	SERVINGS	Cheese, Monterey Jack and Cheddar, Shredded-Made with 100% Monteray Jack and Cheddar cheeses. Pasteurized, natural cheese made from cow's milk. 1 oz. cheese to provide 1 meat/meat alternate for child nutrition programs. Approximate Pack 20# per case in 4/5# sealed pouches. Ship Lot: 400 Cases	Land O LAKES 41485 Bongards 771021	500,000						#DIV/0!	#DIV/0!					
1056	SERVINGS	Cheese, Monterey Jack and Cheddar, Shredded-Made with 100% Monteray Jack and Cheddar cheeses. Pasteurized, natural cheese made from cow's milk. 1 oz. cheese to provide 1 meat/meat alternate for child nutrition programs. Approximate Pack 20# per case in 4/5# sealed pouches. Ship Lot: 400 Cases	Land O LAKES 41485 Bongards 771021	500,000	BONGARDS 771021	BONGARDS 771021	320	0.173	55.25	1,563	\$86,328.13	801	15 business days	I think that the Extended Total Cost is calculating incorrectly. The case cost of \$55.25 x 1563 = \$86,355.75		
1056	SERVINGS	Cheese, Monterey Jack and Cheddar, Shredded-Made with 100% Monteray Jack and Cheddar cheeses. Pasteurized, natural cheese made from cow's milk. 1 oz. cheese to provide 1 meat/meat alternate for child nutrition programs. Approximate Pack 20# per case in 4/5# sealed pouches. Ship Lot: 400 Cases	Land O LAKES 41485 Bongards 771021	500,000	LOL #41485	LOL #41485	320	0.1701	54.43	1,563	\$85,046.88	68	7-10 Days		Award	

Stoc ID	. Unit	Description Approved	Serv	mated vings - 2024	Vendor	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case Value of D Commodi	y per Processing	odity g Fee per	Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD Menu	ı Planning Notes
10	63 SERVIN	Chicken Breast Filet, Breaded, Fully cooked, IQF. Made with USDA commodity chicken (100103). Minimum serving wt. 3 oz. breaded, whole muscle fillet breaded with whole grain wheat flour. Serving to provide a min. of 2.0 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Ship Lot: 400 Cases),000	RICH CHICKS	RICH CHICKS 13440	RICH CHICKS 13440	100103	20) 78	0.262820513	\$0.34	\$0.83	20.5	526.54	\$64.59	\$1.17	\$91.1300	8974.36	\$817,833.33	ORDER MINIMUM: 490 CASES, 9800 LB, MUST ORDER IN EVEN LAYERS BY ITEM.	Award	
10	74 SERVIN	Chicken Breast Filet, Breaded, Spicy, IQF- Made with USDA commodity chicken (100103). Fully cooked, IQF, whole muscle, breading to be made from whole grain flour. Must provide 2 oz. meat/meat alternate and 1 oz. grain equivalent for child nutrition meal pattern. CN label required. Approximate Pack: 120-3.0 oz. servings per case. Ship Lot: 500 Cases		0,000	RICH CHICKS	RICH CHICKS 13441	RICH CHICKS 13441	100103	20	156	0.131410256	\$0.17	\$0.41	20.5	\$26.54	\$64.59	\$0.58	\$91.1300	2564.10	\$233,666.67	ORDER MINIMUM: 490 CASES, 9800 LB, MUST ORDER IN EVEN LAYERS BY ITEM.	Award	
10	65 SERVIN	Popcorn Chicken, Breaded - Fully cooked, IQF, breaded chicken pieces. Made with USDA commodity chicken (100103). Breaded with Whole Grain flour and may be flash fried in vegetable oil, zero added trans fat. Pieces to be made with either a combination of white and dark meat or all dark meat. One serving equals approx. 10-12 pieces of bite sized chicken, Each serving to provide a minimum of 202 meat/meat alternative and 1 grain for the Child Nutrition Meal Pattern Requirements. CN label required. Approximate pack 108-4 02. servings per case. This item will only receive the diverted dark meat from the above white meat processing. If the item you choose to bid contains white meat, that cost needs to be factored into the processing fee. Ship Lot: 500 Cases		0,000	RICH CHICKS	RICH CHICKS 54409	RICH CHICKS 54409	100103	20) 107	0.125327103	\$0.16	\$0.52	13.41	\$17.36	\$55.59	\$0.68	\$72.9500	9345.79	\$681,775.70	ORDER MINIMUM: 490 CASES, 9800 LB, MUST ORDER IN EVEN LAYERS BY ITEM.	Award	

Stock Number	Unit	Description	Approved Brand & Manufacturer's Product Code)	Estimated Servings for 2023-2024	Manufacturer's Brand & Product Code	Bidder's Brand & Product Code	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	AWARDS. ALL	Column 6 Items listed are Pre MSCS will accept an a long as it meets the (2) tested and appro Sample Subm	bid specification and oved through MSCS's		Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18
1063	SERVINGS	IQF. Made with all breast meat chicken.	PILGRIM'S PRIDE/GOLD KIST 7516 RICH CHICKS 13440	400,000						#DIV/0!	#DIV/0!				
1063	SERVINGS	IQF. Made with all breast meat chicken.	PILGRIM'S PRIDE/GOLD KIST 7516 RICH CHICKS 13440	400,000	Gold Creek Foods 792421	Gold Creek 792421	128	\$0.84	\$107.25	3125	\$335,156.25	49	9400# minimum shipment		
1063	SERVINGS		PILGRIM'S PRIDE/GOLD KIST 7516 RICH CHICKS 13440	400,000	Pilgrim's 7516	Pilgrim's 7516	120	\$0.90	\$108.06	3333.333333	\$360,200.00	56	10,000# minimum ship		
1063	SERVINGS	IQF. Made with all breast meat chicken.	PILGRIM'S PRIDE/GOLD KIST 7516 RICH CHICKS 13440	400,000	RICH CHICKS 13440	RICH CHICKS 13440	78	\$1.17	\$91.13	5128.205128	\$467,333.33	70	ORDER MINIMUM: 490 CASES, 9800 LB, MUST ORDER IN EVEN LAYERS BY ITEM.	Award	

							Commercial-ALL	OF NONE							
1063	SERVINGS	Chicken Breast Filet, Breaded, Fully cooked, IQF. Made with all breast meat chicken. Minimum serving wt. 3 oz. breaded, whole muscle fillet breaded with whole grain wheat flour. Serving to provide a min. of 2.0 oz. meat/meat alternate and 1 oz. grain equivalent for the Child Nutrition program. Ship Lot: 500 cases	PILGRIM'S PRIDE/GOLD KIST 7516 RICH CHICKS 13440	400,000	Tyson - 10703000928	Tyson - 10703000928	115	\$1.08	\$124.06	3478.26087	\$431,513.04	40			
1074	SERVINGS	Chicken Breast Filet, Breaded, Spicy - Made with chicken breast meat with spicy seasoning. Fully cooked, IQF, whole muscle, breading to be made from whole grain flour. Must provide 2oz. meat/meat alternate and 1 oz. grain equivalent for child nutrition meal pattern. CN label required. Approximate Pack: 57-3.0 oz. servings per case.	RICH CHICK'S (13441) PILGRIM'S PRIDE/GOLD KIST (7517)	200,000						#DIV/0!	#DIV/0!				
1074	SERVINGS		RICH CHICK'S (13441) PILGRIM'S PRIDE/GOLD KIST (7517)	200,000	Gold Creek Foods 792	Gold Creek 792431	128	\$0.85	\$108.69	1562.5	\$169,828.13	49	9400# minimum shipment		
1074	SERVINGS	with chicken breast meat with spicy	RICH CHICK'S (13441) PILGRIM'S PRIDE/GOLD KIST (7517)	200,000	RICH CHICKS 13441	RICH CHICKS 13441	156	\$0.58	\$91.13	1282	\$116,828.66	70	ORDER MINIMUM: 490 CASES, 9800 LB, MUST ORDER IN EVEN LAYERS BY ITEM.	Award	
1074	SERVINGS	with chicken breast meat with spicy	RICH CHICK'S (13441) PILGRIM'S PRIDE/GOLD KIST (7517)	200,000	Tyson® - 1070310092	Tyson® - 1070310092	120	\$1.06	\$127.06	1666.666667	\$211,766.67	40			

							Commercial-ALL	or NONE						
1665	SERVINGS	Popcorn Chicken, Breaded - Fully cooked, IQF, breaded chicken pieces to be made from a combination of white and dark meat or all dark meat. Breaded with Whole Grain flour and may be flash fried in vegetable oil, zero added trans fat. One serving equals approx. 10-12 pieces of bite sized chicken, Each serving to provide a minimum of 2oz meat/meat alternative and 1 grain for the Child Nutrition Meal Pattern Requirements. CN label required. Approximate pack 108-4 oz. servings per case. This item will only receive the diverted dark meat from the above white meat processing. If the item you choose to bid contains white meat, that cost needs to be factored into the processing fee.	PILGRIM'S PRIDE/GOLDKIST 110458 RICH CHICKS 54409	300,000						#DIV/0!	#DIV/0!			
1665	SERVINGS			300,000	Gold Creek Foods 79:	l Gold Creek 791893	113	\$0.97	\$109.86	2654.867257	\$291,663.72		9400# minimum shipment	
1665	SERVINGS	IQF, breaded chicken pieces to be made from		300,000	Pilgrim's 110458	Pilgrim's 110458	104	\$0.89	\$92.85	2884.615385	\$267,836.54	48	10,000# minimum ship	

						Commercial-ALL	OI NONE							
1665	SERVINGS	Popcorn Chicken, Breaded - Fully cooked, IQF, breaded chicken pieces to be made from a combination of white and dark meat or all dark meat. Breaded with Whole Grain flour and may be flash fried in vegetable oil, zero added trans fat. One serving equals approx. 10-12 pieces of bite sized chicken, Each serving to provide a minimum of 2oz meat/meat alternative and 1 grain for the Child Nutrition Meal Pattern Requirements. CN label required. Approximate pack 108-4 oz. servings per case. This item will only receive the diverted dark meat from the above white meat processing. If the item you choose to bid contains white meat, that cost needs to be factored into the processing fee.		RICH CHICKS 54409	RICH CHICKS 54409	107	\$0.68	\$72.95	2803.738318	\$204,532.71	70	ORDER MINIMUM: 490 CASES, 9800 LB, MUST ORDER IN EVEN LAYERS BY ITEM.	Award	
1665		• • • • • • • • • • • • • • • • • • • •		Tyson® - 1070368092	Tyson® - 1070368092	155	\$0.48	\$74.10	1935.483871	\$143,419.35	40			

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case Weight (Pounds)	Servings per Case		Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case		Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	(1) as long as it specification an approved throug	Column 6 -Approved Brands, an approved equal treets the bid of (2) tested and th MSCS's Sample in Process.	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 24	Column 25	Column 26
1201	SERVINGS	Ketchup - Made with USDA commodity tomato paste for bulk processing (100332). Individual 9 gram package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkg/case. Ship Lot: 500 Cases	Red Gold REDYL9G01	5,500,000													\$0.00	\$0.0000	#DIV/0!	#DIV/0I			
1201	SERVINGS		Red Gold REDYL9G01	5,500,000	Red Gold	Red Gold REDYL9G	Red Gold REDYL9G	100332	19.84	1000	0.004	0.003	0.02	4.81	3.29	21.98	\$0.02	\$25.2700	5500.00	\$138,985.00	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	Award	
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT COOLER SRV																	PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL				
1510	SERVINGS	Sauce Marinara - Seasoned, canned marinara made with tomato sauce, italian spices, and diced tomatoes. Made with USDA commodity tomato paste for bulk processing (100332). Packed to USDA Grade B standards or better. Approximate serving size is 1/2 cup. Minimum NTSS 8%. packed 6 - #10 cans per case. Must provide crediting statement. Approximate Pack: 6 - #10 cans/case. Ship Lot: 476 Cases	Red Gold RPKNA99	700,000													\$0.00	\$0.0000	#DIV/0!	#DIV/0!			
1510	SERVINGS	Sauce Marinara - Seasoned, canned marinara made with tomato sauce, italian spices, and diced tomatoes. Made with USDA commodity tomato paste for bulk processing (100332). Packed to USDA Grade B standards or better. Approximate serving size is 1/2 cup. Minimum NTSS 8%. packed 6 – #10 cans per case. Must provide crediting statement. Approximate Pack: 6 - #10 cans/case. Ship Lot: 476 Cases	Red Gold RPKNA99	700,000	Red Gold	Red Pack RPKNA99	Red Pack RPKNA99	100332	39.4	450	0.02	0.01	0.09	7.52	5.14	34.32	\$0.10	\$39.4600	1555.56	\$61,382.22	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	Award	
1916	SERVINGS	Cheese Sauce Heat and Serve Bulk Pouch — Made with USDA commodity cheese (vendor must specify USDA commodity code used and value per pound). Heat in Pouch. Each serving should meet a minimum equivalent of 1oz M/MA per the CN program. CN label or crediting state required. Approx. pack 6/ 5lb pouches per case. Ship Lot: 200 Cases	Land O Lakes 39940	1,200,000													0.0000	\$0.0000	#DIV/0!	#DIV/0!			

Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Vendor	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Commodity Code(s)	Finished Product Case S Weight (Pounds)	Servings per Case	Pounds of Donated Commodity per Serving	Value of Donated Commodity per Serving	Commodity Processing Fee per Serving	Pounds of Donated Commodity per Case	Value of Donated Commodity per Case		Commodity Value Plus Processing Fee per Serving	Commodity Value Plus Processing Fee per Case	Total Cases Required	Extended Total Commodity Processing Cost	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19	Column 20	Column 21	Column 22	Column 24	Column 25	Column 26
		Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	MSCS will accept a (1) as long as it specification an approved throug	e-Approved Brands, an approved equal t meets the bid di (2) tested and gh MSCS's Sample on Process.																		
1916	SERVINGS	Cheese Sauce Heat and Serve Bulk Pouch - Made with USDA commodity cheese (vendor must specify USDA commodity code used and value per pound). Heat in Pouch. Each serving should meet a minimum equivalent of 1oz M/MA per the CN program. CN label or crediting state required. Approx. pack 6/ 5lb pouches per case. Ship Lot: 200 Cases	Land O Lakes 39940	1,200,000		JTM 5715	лтм 5715	110242	30	252	0.0321	\$0.06	\$0.19	8.1	\$15.78	\$46.89	0.2487	\$62.6700	4,762	\$298,428.57	Minimums: Direct Orders = 6300 Pounds, Can be mixed product & must order in layers. Distibutor orders: 4200 pounds, Can be mixed product & must order in layers.	No Award	Sample sent was frozen.
1916	SERVINGS	Cheese Sauce Heat and Serve Bulk Pouch - Made with USDA commodity cheese (vendor must specify USDA commodity code used and value per pound). Heat in Pouch. Each serving should meet a minimum equivalent of 10z M/MA per the CN program. CN label or crediting state required. Approx. pack 6/ 5lb pouches per case. Ship Lot: 200 Cases	Land O Lakes 39940	1,200,000	Land O'Lakes	LOL#39945	LOL #39945	110242	39.75	212	0.0637	0.124	0.1993	13.5	26.29	42.25	0.3233	\$68.5400	5,660	387962.2642		Award	The bid should have been added to the tabulation sheet but was missed in error. 8-15-23
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMERCIAL EQUIVALENT LOCATED ON TAB COMMERICAL EQUIVALENT -DRY-SRV																	EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT				

Unit					Code	Terms	Case							Comment	AWARD	Menu Planning Notes
Column 2	Column 3		Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
	Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	FOLLOWING SPECIFICATIONS	accept an approved equa bid specification and	I (1) as long as it meets the (2) tested and approved	ALL SHIP LOTS ARE IN CASES.											
SERVINGS	package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkg/case.		5,500,000							#DIV/0!	#DIV/0!					
	Ship Lot: 500 Cases															
SERVINGS	package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack:		5,500,000	Red Gold REDYL9G	Red Gold REDYL9G	Net 30	1000	0.03	\$25.27	5500	\$138,985.00	90	10 Business Days	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	Award	
	Ship Lot: 500 Cases															
	TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY EQUIVALENT LOCATED ON TAB COMMOITY EQUIVALENT -DRY-SRV									FEE PER UNIT +						
SERVINGS	or better. Approximate serving size is 1/2 cup. Minimum NTSS 8%. packed 6 - #10 cans per case. Must provide crediting statement. Approximate Pack: 6 - #10 cans/case.	Red Gold RPKNA99	700,000							#DIV/0!	#DIV/0!					
	Sauce Marinara - Seasoned, canned															
SERVINGS	Packed to USDA Grade B standards or better. Approximate serving size is 1/2 cup. Minimum NTSS 8%. packed 6 - #10 cans per case. Must provide crediting statement. Approximate Pack: 6 - #10 cans/case.	Red Gold RPKNA99	700,000	Red Pack RPKNA99	Red Pack RPKNA99	Net 30	450	0.09	\$39.46	1555.55556	\$61,382.22	56	10 Business Days	Pricing provided is for a LTL (10,000 - 20,000 pounds). Truck can be a mixed load of awarded products, shipped in full pallet quantities.	Award	
	Ship Lot: 476 Cases															
	TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY EQUIVALENT LOCATED ON TAB COMMOITY EQUIVALENT -DRY-SRV									FEE PER UNIT +						
	SERVINGS SERVINGS SERVINGS	Bid Submissions That Deviate From What is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response. Ketchup - Made with fresh, ripe tomatoes. Individual 9 gram package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkg/case. Ship Lot: 500 Cases Ketchup - Made with fresh, ripe tomatoes. Individual 9 gram package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkg/case. Ship Lot: 500 Cases TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY EQUIVALENT LOCATED ON TAB COMMOITY EQUIVALENT LOCATED ON TAB COMMOITY EQUIVALENT CORTED ON TAB	Column 2 Column 3 Column 4 Bid Submissions That Deviste From What Being Requested in The Specifications Being Requested in The Specifications Being Requested in The Specifications Being Will Be Considered A Non Acceptable Vendor Response. Ketchup - Made with fresh, ripe tomatoes. Individual 9 gram package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkgs/case. Ship Lot: 500 Cases Ketchup - Made with fresh, ripe tomatoes. Individual 9 gram package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkgs/case. Ship Lot: 500 Cases Ketchup - Made with fresh, ripe tomatoes. Individual 9 gram package, 1000 Pkgs/case, Made with sugar and high fructose corn syrup as an ingredient, low sodium. Serving size = 1 packet. Approximate Pack: 1000 pkg/case. Ship Lot: 500 Cases TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY EQUIVALENT LOCATED ON TAB COMMOITY EQUIVALENT L	Column 2 Column 3 Column 4 Column 5 Red Sazes For THE PACKS SAZES	Column 2 Column 3 Column 4 Column 5 Column 6 Rand & Product Code Rand & R	Unit Description Brand & Product Codes Standard Servings Stand	Unit Description Page Page	Unit Description Rand & Product Codes Column 2 Column 3 Column 4 Column 5 Column 6 Column 7 Column 8 Column 9 Rand & Terms State St	Unit Description Rand & Product Codes Column 3 Column 3 Column 3 Column 4 Column 5 Column 5 Column 6 Product Code 6 Product C	Unit Description Page 1997 Column 3 Column 4 Column 5 Column 5 Column 6 Column 5 Column 6 Column 7 Column 7 Column 7 Column 8 Column 8 Column 9 Column	Disserting from Processing	Description Property Proper	March Column Co	Column C	Substitution Subs	Second Common C

										•	iy by the ociving	•					
Stock ID	Unit	Description	Approved Brand & Product Codes	Estimated Servings 2023 - 2024	Manufacturer Brand & Product Code	Bidder's Brand & Product Code	Terms	Estimated Servings Per Case	Cost Per Serving	Cost Per Case	Required Number of Cases	Extended Total Cost	Number of Cases per Pallet	Lead Time	Comment	AWARD	Menu Planning Notes
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	accept an approved equa	oproved Brands, MSCS will al (1) as long as it meets the (2) tested and approved ple Submission Process.	ALL SHIP LOTS ARE IN CASES.											
1916	SERVINGS	Cheese Sauce Heat and Serve Bulk Pouch – Heat in Pouch Cheese Sauce. Each serving should meet a minimum equivalent of 1 oz M/MA per the CN program. CN label or crediting required. Ship Lot: 200 Approx. pack 6/5lb pouches per case. Ship Lot: 200 Cases	Land O Lakes 39940	500,000							#DIV/0!	#DIV/0!					
1916	SERVINGS	Cheese Sauce Heat and Serve Bulk Pouch – Heat in Pouch Cheese Sauce. Each serving should meet a minimum equivalent of 1 oz M/MA per the CN program. CN label or crediting required. Ship Lot: 200 Approx. pack 6/ 5lb pouches per case. Ship Lot: 200 Cases	Land O Lakes 39940	500,000	JTM 5715	JTM 5715	Net 30	252	\$0.25	\$62.67	1984.126984	\$124,345.24	70	21 days	Minimums: Direct Orders = 6300 Pounds, Can be mixed product & must order in layers. Distibutor orders: 4200 pounds, Can be mixed product & must order in layers.	No Award	Sample sent was frozen.
1916	SERVINGS	Cheese Sauce Heat and Serve Bulk Pouch – Heat in Pouch Cheese Sauce. Each serving should meet a minimum equivalent of 1 oz M/MA per the CN program. CN label or crediting required. Ship Lot: 200 Approx. pack 6/5lb pouches	Land O Lakes 39940	500,000		LOL #39945	Net 30	212	0.3233	68.54	2358.490566	161650.9434	48	7-10 Days		Award	The bid should have been added to the tabulation sheet but was missed in error. 8-15-23
		TO BID THE ABOVE ITEM YOU MUST ALSO BID THE COMMODITY EQUIVALENT LOCATED ON TAB COMMOITY EQUIVALENT -DRY-SRV									EVALUATION PRICE BASED ON COMMODITY VALUE PLUS PROCESSING FEE PER UNIT + COMMERICAL PRICE PER UNIT						